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fx) =-x*+2x+1 1A f(2) =1, f(-1)
S f(2) + f(-1) = -1
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3. oA 4x? —32x £ k44 = 02] Zo] 1Y wf, AV k o] ZHe
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> HeH k=60

4x2 - 32x+k+4=0

4(x* - 8x) = k-4

4(x2 - 8x+16) = —k — 4 + 64

4(x—4)2 = —k + 60

Z28 7 Aok SRR —k 4+ 60 = 0, k = 60 ©]t}.




O g4 3x2 —6x +k+2=02F
3x2-6x+k+2=0

3(x? —2x) =-k-2
3(x*-2x+1)=-k-2+3
3(x-1)2=-k+1

Z3L 7tAokstERE —k+1=0
k=1




